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PROBLEM 1: (25 Points)
Given V(t) = 2Cos(2000t + 45°). Find Vi(t) and I(t) and the corresponding

phasors.
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PROBLEM 2. (25 Points)

Given I(t ) = 10Cos(1000t + 15°). Find V(1) and l«(t) and the
corresponding phasors.
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Problem 3 : (25 Points)

Given the Bode plot of a transfer function . Find the output voltages
for each of the input signals. Note : Use the approximation (given by
dashed line ) when looking up the value in the figure.
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Angular frequency (rad/s)
a) Vin(t) = 4 cos(wt + 30°), when w = 0.001 rad/s.Find Vou(t).
b) Vin(t) =2 cos(wt + 60°), when w = 0.01 rad/s.Find Vou(t).
c) Vin(t) =10 cos(wt + 45°), when w = 1 rad/s.Find Vout(t).
d) Vin(t) =4 cos(wt), when w = 10 rad/s.Find Vou(t).
e) Vin(t) = cos(wt + 0°), when w = 100 rad/s.Find Vou(t).
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PROBLEM 4 : (25Points)

Find the transfer function and sketch the magnitude of H(w)
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